## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Coldfields Community FY'01 Supplement Budget Amendment and Modification)

RESOLUTION NO. <u>01-154</u>

1	WHEREAS,	the Baboquivari District Council met on December 16, 2000, to review Coldfields
2		Community budget modification and amendment. In the amount of two thousand
3		five hundred thirty-six dollars and five cents (\$2,536.05) from FY'99 Supplement
4		Budget line item 31-7014-727.32 Materials to create (3) line items namely:
5		711.32 <u>Communications</u> in the amount of Two Hundred Three Dollars and Ninety
6		One Cents (\$203.91). Justification - To pay for telephone used for
7		community business or emergency calls.
8		712.32 Gas, Oil & Coolant in the amount of One Thousand Three Hundred
9		Seventeen Dollars and Thirty Three Cents (\$1,317.33). Justification - For
10		purchase of fluids for vehicle, gas, oil, coolant, brake fluid, transmission
11		fluids and window cleaner.
12		771.32 Repair Maintenance Vehicle in the amount of One Thousand Fourteen
13		Dollars and Eighty One Cents (\$1,014.81). Justification - Service and
14		maintenance agreement for community vehicles extended warranties,
15		windshield replacements labor and parts.
16	WHEREAS,	any changes in the justification, additions and/or transfer of funds between budget
17		line items are to be reviewed and approved by the District Council.
18	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby approves
19		the Baboquivari District Supplement Budget Modification/Amendment new line
20		items 711.32 Communications, 712.32 Gas, Oil & Coolant and 771.32 Repair
21		Maintenance Vehicle.
22	BE IT FURT	HER RESOLVED that the budget modification in the amount of Two Thousand Five
23		Hundred Thirty Six Dollars and Five cents (\$2,536.05) be distributed to the new line
24		items aforementioned.
25 26 27	of APRIL, 20	ng Resolution was passed by the Tohono O'odham Legislative Council on the $04^{TH}$ . Day $001$ at a meeting at which a quorum was present with a vote of $2,165.5$ FOR; -0-AGAINST; ING; and $02$ ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2)

	RESOLUTION NO. <u>01-154</u> (Approving Coldfields Community FY'01 Supplement Budget Amendment and Modific Page 2 of 3	ation)
1 2 3 4 5	O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assista Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of Jun Stat. 984).	nt Secretary -
6		
7		4
8		
9		
10		
11		
12		
13	3	
14	4 ATTEST:	
15	15	
16		
17	7 / XXV / M	
18	8 Julianna Saraficio, Acting Legislative Secretary	
19		
20	20 04 day of April , 20 0/.	
21		
22		ono O'Odham
23		
24	-	
25	1 1	n 48 hours of
26		
27	<b>1</b>	
28		
29		
30		
31		
32 33	· -	
34	ii	
35		
36		
37		) /
38	<b>18</b>    (	
39		
40		
41		
42		
43		
44	14 TOHONO O'ODHAM NATION	
45	45	
46	46	

(A	RESOLUTION NO. <u>01-154</u> (Approving Coldfields Community FY'01	Supplement	t Budget Ame	endment and	Modification			
Pa	Page 3 of 3 Returned to the Legislative Secretary on the $\sqrt{\mathcal{O}^{f_3}}$ day of							
		1:57 o'clo	nck A M					
<u> </u>	, , , , , , ,	· · · · · · · · · · · · · · · · · · ·						
	Agril ,2001, at 9	h						
Ju	Julianna Saraficio, Acting Legislative 8	ecretary						

ACTION: APPROVING COLDFIELDS COMMUNITY FY'01 SUPPLEMENT BUDGET AMENDMENT AND MODIFICATION

MOVED: COUNCILWOMAN FRANCES ANTONE SECOND: COUNCILMAN ALBERT MANUEL, JR.

**DATE:** APRIL 04, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew) 2. RITA MARTINEZ	85.9	X			
	(Nicholas Jose)	85.9	X			
SELLS 372.7	1. DENNIS E. JOSE	186.35	х			
	2. EVELYN JUAN	186.35	x			
SCHUK TOAK	1. MARY FLORES	66.7	X			
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RAMON	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X		-	
286.5	( ) 2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	1. CAMILLUS LOPEZ	104.8	х	_	-	
209.6	2. ALEX J. RAMON **	104.8	X			
PISINEMO	1. BARBARA SALVICIO	78.4	X			Х
156.8	(Alex Antone) 2. JOHNSON JOSE ( )	78.4	х			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			<del>-</del>
128.1	2. GLORIA RAMIREZ	64.05	X			X
GU VO	1. FERN SALCIDO	80.0	X			
160.0	2. GLORIA MONTANA ** (Phillip Antone)	80.0	x			
HICKIWAN	1. SHIRLEY MOLINA	79.05	х			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			
	OTAL	2,165.5	2,165.5	-0-	-0-	[02]